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Mixed word problems

Grade 1 Word Problems Worksheet

There is a parking lot in front of a building. There are
two rows of parking spots. There are 15 spots in each
row.

1. How many parking spofts are there in total?

2. There are 8 cars parked in the first row. How
many empty parking spots are there in the first
row?e

3. There are 11 cars parked in the second row. Are
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4. What fraction of parking spofts in the second row
are emptye

5. The fee for parking is $2 for one hour. How much
is the parking fee if a caris parked for 3 hours?

6. 1—2 of the belong to the people working at the

building. How many cars belong to the visitors to
the buildinge
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Answers

1. 15+15=30
There are 30 parking spots in total.

2. 15-8=7
There are 7 empty parking spots in the first row.

3. There are more cars in the second row than the first row.
4, 11'5 of the parking spots in the second row are empty.

5. 2+2+2=6
The parking fee is $6.

6. 3 cars belong to the visitors.
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